Math 151 - Quiz 7 Name \<et§

October 14, 2015 Score

Show all work to receive full credit. Supply explanations when necessary.

1. (3 points) Use long division to rewrite in terms of the quotient and remainder.
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2. (2 points) Use synthetic division to determine f(4) when f(z) = 2z2% — 323 — 6z + 5.
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3. (2 points) Construct a 3rd degree polynomial that has zeros 3, —1, and 2, and whose
graph has y-intercept (0,12). —_—
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4. (3 points) List all possible rational zeros of p(z) = 2z* + 723 + 22 — T2 — 3. Then find
all zeros of p.
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